A #I+48

2020 £ 11 A 23 B (A)

R AL BENVT 4 FTEUHIRR -
HDCPERR: (5) (%)
f= LA-M:
ouT IN
5%
JIE 52 iR A A ouT IN | GROSS | HDCP | NET
B B miE = 45 43 88 24.00 64.0 AE
gk 5 41 42 83 17.00 66.00AE BG
6L |HHE  ERif 49 49 98 32.0/ 66.0 AE
A R EThR 49 51 1000 33.00 67.0/AE
51 HW F£5h 47 42 89 21.0/ 68.0 AE
6hr & F 44 46 90, 21.0/ 69.0
ML hIE HET 46 45 91, 22.0/ 69.0
84z = 52 49 41 90, 20.0/ 70.0
o KIE EEH 45 49 94, 24.0/ 70.0
106 |FE BF 47 48 95 25.0/ 70.0
1462 Rk &# 41 47 88 17.0/ 71.0
1262 |#%FHA & 43 48 91, 19.0/ 72.0
1362 % & 48 45 93, 21.0/ 72.0
1462 A 5hiE 47 46 93, 21.0/ 72.0
1562 /M EEHE 47 44 91| 17.0{ 74.0
1662 |FA &7 45 48 93] 19.0/ 74.0
1762 A0 14 48 45 93| 19.0/ 74.0
1861 | KIE B 49 48 97/ 23.0/ 74.0
196 |BZE EF 48 44 92| 17.0/ 75.0
206 |58H F+R 45 48 93| 18.0/ 75.0
216 | FAR BX 50 48 98| 23.0/ 75.0
260 B HFE 50 48 98| 23.0/ 75.0
23 HE = 48 44 92/ 16.0| 76.0
40 B IEE 49 45 94| 18.0/ 76.0
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A #I+48

2020 £ 11 A 23 B (A)

BEAE BENUT A FTEUHIRR -
HDCPERR: (5) (%)
f= LA-M:
ouT IN
5%

JIE 52 iR A A ouT IN | GROSS | HDCP | NET
2561 |H# SEEA 47 50 97, 21.0/ 176.0
260 $H EA 50 51 101, 25.0/ 76.0
212 BNl =Z 50 59 109 33.00 76.0
2860 BNl & 48 47 95 18.0/ 77.0
29 EE A 47 48 95 18.0/ 77.0
306 |[{ERE fB— 51 44 95 18.0/ 77.0
I B Ik 51 46 97, 20.00 77.0
3246 |HF Rt 52 45 97, 20.00 77.0
ML |EHW ILE 48 49 97, 19.0/ 78.0
4L | BEH 50 48 98 20.0/ 78.0
35 WM IE{E 48 52 1000 22.00 78.0
6z | TH [E 53 48 101, 23.0 78.0
3L |[IUF  #hTE 51 50 101, 23.0 78.0
B EBEE K 56 49 106 27.0/ 78.0
9L |HF —= 51 44 95 16.0/ 79.0
40 REH =R= 50 46 96, 17.0/ 79.0
Nz | RKE FIE 47 49 96| 17.0/ 79.0
4260 | SR = 50 47 97/ 18.0/ 79.0
430 BB =X 51 48 99| 20.0/ 79.0
My | F A K F 45 54 99| 19.0/ 80.0
454 1EH FE 50 51 101 21.0/ 80.0
466 K = 52 52 104] 24.00 80.0
4151 |IUT  BESA 54 52 106/ 26.0/ 80.0
481 |IUTF K 50 56 106/ 26.00 80.0
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A #I+48
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R AL BENVT 4 FTEUHIRR :
HDCPERR: (58) (%)
R Lk
ouT IN
-
I iz B E % ouT IN | GROSS | HDCP | NET
496 WE S 57 55 112/ 32.0, 80.0
50 | RB/I EE 49 53 102/ 21.0 81.0
514 BEH EA 50 55 105 24.0 81.0
5261 |£B ADh 56 51 107, 26.0 81.0
53t |4+ FnAl 54 46 1000 18.0, 82.0
541 MHEH ERE 55 49 104/ 22.0, 82.0
55 |R&B/II B 53 51 104/ 21.0 83.0
56 /AR FH 54 50, 104 21.0/ 83.0
51 &8 EF 51 55 1060 23.0 83.0
58fi A i 52 53 105 20.0, 85.0
5941 |LEUE JLRB 62 56 118/ 31.0 87.0
606 |#2fE 55 50, 105 17.0/ 88.0
6146 |f&iE R— 56 50, 106 18.0 88.0
6262 |IUEF BT 56 53 109 21.0 88.0
63tz |FF —& 58 57 115/ 27.0, 88.0
64 HBE HF 61 60, 121 33.0/ 88.0
656z |TFH =EA 59 65 124/ 36.0 88.0
66 HH = 60 51 111 21.00 90.0
676z |[RAE =FA 53 61 114, 21.0, 93.0
68 LA KRE 54 59 113 19.0, 94.0
694z |FFiE  F=5h 12 51 1230 29.0 94.0
106 &K HX 14 57 131 26.0 105.0
wiolrik | FEE  BAZ 54 46 1000 25.0/ 75.0
shkkkk |EE BR— 50 42 92| 17.0{ 75.0
P-3 BERREFERR IV 7 EEER
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B AL BENVT 4 FTEHIBR -

HDCPLPR: (58) (%)

f= LA-M:

ouT IN

=

JIE {32 a4 ouT IN | GROSS | HDGP | NET
wekkkk BEH R 52 500 102 25.0 77.0
wkkkkk | SEE 49 50 99| 22.0/ 77.0
fokkkrk | IKE FA 52 49 101 23.0/ 78.0
ropokk (B IR 53 60, 113 31.0/ 82.0
wkkkkk | EHAR AR 49 51 1000 0.0 100.0
ek | fRE T 63 59| 122 0.0/ 122.0
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